MATHEMATICS ASSIGNMENT FOR L5 ALL

Find the following integrals.

1. j(sf —8x 4 5)dx

3. j(xf +2x+3)dx

1
5. —)d
f‘“mw;) X

7. Iﬂdx
=

9. I(l+3r]r3dr
1. [y
13. j'vsin(x)dx
15. f@sinux)dx
17. [7cos(5x)dx
19. [4e7dx

21. I—Scos ax dx

Q23.

PindJ [xz-i,#\/}]dp
2

=]

=

[i--5)
x x x

3 5
: j' (12x% — 9x3)dx

=

“

.L-:E dx

10. j'(zf—l)fd:
12. j'do
14. j'Scos(())do

1

=)

. jlzcosmf))do
18. [4sin(de_r

3
20. j@e?dx
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(Total 4 marks)




Q24.

Find j(z +5x7)dx .

(Total 3 marks)
Q25.
For the curve C with equation y = f(x),
L =X+ 27
dx
(@) Find 32
dx_
(2)
d*y
(b) Show that = = 2 for all values of x.
)]
Given that the point P(2, 4) lies on C,
(c) findy in terms of x,
o)

(d) find an equation for the normal to C at P in the form ax + by + ¢ = 0, where a, b
and c are integers.
()
(Total 13 marks)




PART 2: INTEGRATE USING SUBSTITUTION METHOD

1. In each case the integrand can be written as f(g(z)) ¢’(x). Identifv the functions f and g
and use the general result on page 7 to complete the integration.

(a) /Q:I:ezz_ﬁdy (b) _/_21 sin( 1_1 Jdo (©) f 1;0:1;1

2. In each case use the given substitution to find the integral:
(a) /—Qxe‘IQdm. u=—x2
(b) f:.: sin(2x%)dr, u = 222,
(c) /5 o3Vt + 1da, u=z"+1.
0
3. In each case use a suitable substitution to find the integral.

(a) f 50VT — a2dz (b) ] ﬁ (c) / 241 + 2%)3dx

cosT

3

(d) / LAz (e) —T ) ] T 4
Vvl + 16 (5 + sinz)? o Vit 12

(g) / 522v/1 — 23dz  (h) j e Tsinadr (i) / e cosx da.



